Hoy 3 Solubions ELEN O 2009
L (B b (40 )
Toew I/Z_VYLCL/&(Y'
fbmkaﬁ\ = ”Lm(L/qy + m(L+L/LS_ = 3 mLZl
Taogp ° iy ol
Taona = o L™ m(“’l)l - '/3"”1}
- 183lgf mL*

7F, = R, 7 Tiley
Z)F/(,‘ - 'QV\ -Mmag = [YL}IGW |
,-Hs?‘*Qm%LG.SW\@ - IAD(
ZM = =k +?_ 4[-5‘“9::[.
KO Imy S Lo

2=

. 3.
(250} -KO+Jmo L@ -
) 9L

S\Y‘f\?\iéwlnﬁ & SIINO~E

- Ko+dmgIL8 - Bmlt o
JTE 76
55mL* & +<2m‘3%“9’\<e>‘ =0




Of_«irmdwl

FS,A = \IE + 7 .5
Lo = 20-29 |
J{, i : T@MO'O“ G _r d;(?C‘LIOY\ e:r ZL 2’\ ‘
. a0 Y ) 6 A_A ﬁ 8 ‘
a Sk
FBD | 1 -7
T T T, Tat Mo(n) L-15
mb In = ”ém \_L ‘
Y. > 3 \ Lm ‘ © |
g M \T};%a@m}
(3 N 1
oM | = |
=OM e EoH (Cr@&) |
}, + T o=y |
F} R, __:L__— My O /i "T&H\H T\ﬁ/z o
| Ry-mg - 73 -, | | T2 T MOy | O
SR —i.u_u baa&
M “{Y\bg%coaéﬁﬂ’ + {?;m X I) =1, Xy
/\2 Woment /k\;nom%i
Cc;““tﬁd Y Canasd b»,_]:j
1 a Ty
MomyqLess 340 at 2T
ST T e
Kinem a-bics )

Qz = olag * Yoy 7 - Dolet + c%%:\‘f
de " Ayt e Yoy ToT 4 ey

OOhS’\'rQ!ﬂM—\“ OCL 0O = O(&C 1/2 D(/

5@\0”\3 O3

acx = 7206 M
Xag 7 0.75 rodia

+*2olg L+ 10(303

9
1
()Q
Q




2.9
‘\ Ti?_, + N mca - O } e
Is; 2 ]
%’T___?» P N T WO,
j 2.
N = Mg — TJZ
’Lgl + M(Y\{\QC&’ I%:Z\): Me Qe y
\ Loy = ~.836 W5L7

o use nvked of @
& Sohe Qor Qx




3 (5a) .
' 7 4F0s L=@BRYK Ty Fo
*n “

Ak bre L2 V= (B -2) R I,k -4.53R%s K

SR g7 my T ’/Zj&w"—

[ N
o _IB68RY + ImV, 41T
Ehe/(o\ﬁ 'Eou\omw,o q/l Q‘V\'gﬁg—? K*a \G'J'Z W

“
Kine malics 2 \IC‘, = =R ) 1,7 JllmD\

Uy RER-25% B2 = Uy (Lo g (MamRT)o"

ALKt Iy mw
6A42K-Z = mWT B Wt 42 Ky

E

3
Z-O?J_K: = ) !
Y »




I
. TWae : ! |
N Lo ohen B hils blocr ) |

Ty — > \C":\_ Iy Wae 3 h + -5
37 h“’l 6{'\ p ,,__V‘F = W\H%% & O Z%, |
— V S ﬁH J’Qwﬁv—w B |
NZ' vy It “3Mne Ve 5T Whe

t’im%c\/ﬂ N ’/21“(’0&

Kinemolbics
Vi O |
Vo = V2 + (Whg ¥ Tya) = LOa) WA
‘s Xn Wag ¥ Yoia War'L 'f\r‘\gwﬁ&»a |
Yoln :/iﬁ',\._‘%")n,\

Voo iy +{Lope Yerg) = Wagt + (Vg +J7 7 Wee)h
Yeg = L7

(onsiaint ¢ Vua:O = N3gp * J2 Wy <O :'})‘U)BQ: ‘?,/@@f‘? }‘

d

Vi Vg (Wge » Yoy WaaT + (I3 Wag tI2/,. Wae)5
\(y\/g = \TZ/?_A

~ ;

Vo < Wi + Bl ?
3 2

y& = )z/:: e (f})ﬂg XYGT}(-'% = 5wHE/C +- B L’Oﬂ%g




5ub54%jn ca bOkC,k 1'3“‘0 £ mfyaj

IG. = I/n_ I’Y\a’g\.% ',Lmz N %‘mﬁ%
T, - . L - )
H l?.. m%(_L’bc = ,.\—,i{“a' MRe L = ‘L m%c,

T % Mag e + L (J_m%>bk)m5 +/7: Mec ;/LLU% +"i& |

z ks i " ;
Ts ~ 4 Wre™(Mae amg t Py Mac ™ lanige) = 1Y 100>

\/‘L - \/_F + T:P
120 = 5 19 =
2. /LC& r /3 Wpg

e A B A A1 S

o A AR

Wnﬁl: "L}a_%__ = é‘lC«) (A)ﬁB =-2.5 yod{g \g
/
{Wgc - 6 O rc:«d,s

e R A e
gt e

T




